KOHLER.

BEFORE YOU BEGIN

FAMILY CARE 2.0
INSTALLATION INSTRUCTIONS
LRYAH

SINGLE, 10mm FM

BT, 10mmGARIR IS
K-701643T-FM-SHP

SINGLE, 8mm FM

BT, smmLARIFEE
K-701647T-FM-SHP

LIRLZHI

e Allinformation is based on the latest product information
available at the time of publication. Kohler China Ltd.
reserves the right to make changes in product
characteristics, packaging, or availability at any time
without notice.

* These instructions contain important care, cleaning, and
warranty information-please leave these instructions for
the consumer.

* Make sure that the bath and the finished wall material are
completely and correctly installed prior to installing your
shower door. Prepare waterproof layer to wall and floor of
the showering area. It is not allowed for any presence of
electric switches and sockets. Make sure the floor drain
runs smoothly.

* Before starting the door installation, lay out and identify all
the parts. Use the exploded view illustrated on page 2 for
reference.

* For the installation method of customized shower with
different dimensions, please refer to this instructions.

e The product complies with QB 2584-2007.

& CAUTION: Risk of injury or product damage.
Tempered glass cannot be cut, drilled or knocked by
hard object. Make sure corner area of the glass
refraining from knocking so as to cause personal injury
due to broken glass.

ATTENTION: Please install this door on Kohler receptors or
curbs(Not included). If the curb is not Kohler-branded, please
note its top width should be more than 80mm.

IMPORTANT: The shower door requires a flat vertical
finished wall. The squareness of the wall is recommended no
more than 3 mm/m. KOHLER Company won't take
responsibility of the installation quality.

Do not use the enclosure for at least 24 hours.

REG 24 NERIBIDERMES.

ZHONGSHAN KOHLER SHOWER CO., LTD.
DEVELOPMENT ZONE, ZHONGSHAN, G

o BEBABHABENER SRR HR S RERRS AL
#HHEBRQBREEFREHERITIUER BN B RE = miFIE.
B A (SR BBIAF,

o RAPEEEENTRGEENFRFAENRS, FlXE
ARG AP, RE.

s MERELEMNAEZABEATEERMEE T AEMTT
B E AL A IS E N KA R, AR SR ER S
FFK R EE i (R EH K@

o TERITHAEREZ A, BEH AT IHBINFTENZ M
BBEE 2 N LR EE,

*© HRTSHITEFRTRNERNARE, SRARBRET
ik,
o AFEMFTE QB 2584-2007,
/N B e ARGERE = RRTNRR,
MR R TIIE, $h7L BB . s S Ze it ig
120, NOBRIREA. AR S S, LR RG A,

B OBAF R RERSHWARTIEKE L (FHITHXE) .
MBEEEKE, BINERZEERT AT 80mm,

BRSNS R ERET EEENER L IEENEEER
Eggié%m/m LR SIREBH B, BIE# AT AMRIERA
YJT o

ROUGHING-IN R~ B

Unit: mm

° EEEE S

% )

8

|
AdLa ]

Y/

EFI) aFI] ‘ B
%
SKU B H
K-701643T
600-900 | 1850-2200
K-701647T

NO13-1, XINGYE ROAD, ZHONGSHAN TORCH
UANGDONG, CHINA POST CODE: 528437

PUBEDABRATE I ARERUTRUAEF LKL 13-1 S B4 528437

1415127-T01-A

-1- © Copyright Kohler China Investment Co., Ltd. 2019
© WRIARE (RE) KREBRABFEA 2019



ST3.5x12 Self Drilling Screw ST3.5x25 Self Drill Screw
ST3.5x128 K B EE] ST3.5x25 EHHEET
Top Hinge Component
AN
M4x20 Cross Slot Mechanical Screw
M4x20 +=F IR SKARIRET

ST3.5x40 Cross Slot Pan Head Screw
ST3.5x40 B IRE]

Wall Top Cover

< EMEE
Top Frame i Door Glass Side Frame Top Cover
g IIRIDAE Lk
-
Decorated Strip
Wall Frame
_ I I3RS
Side Jamb Top Cover
DiE B E
-
Side Frame For Door
I I MIBAE
o
i
e
ST8.5x25 Self Drilling Screw Decorated Strip
ST3.x25 BT ooT '
Bl
Bubble Seal Strip
o 10mm BHERF
i ms
Single Door Side Frame 8mm EE SRR
BRI RIBAE
o M4x10 Mechanical Screw
Mdax 103 B Sk iR 22
Soft Handle
e uES < Bottom Fixed Seat
TEEE
M\ Hinge Shaft
Hinge Sleeve
ESS
Grub Sorew Decorated Cover
[aav=EAEL=33) b
A TEREE %
Sealing Strip
10mm [JRIHKE SR
8mm [TJEIHKESR
X2 | Wall Frame [ T3t % | X2 | Wall Top Cover $&# Lk
<> X1 | Side F Top C IR LIRS
X1 | Side Frame For Door [ JIZ{MIBE ide Frame Top Cover [ JHDAE L1
Q X1 | Single Door Side Frame [ J3&34I&A1E
77
X1 | Top Frame AR ) ® | X16| Pan Screw ST3.5x40 [EISk#L£ST3.5x40
X1 | Single Door Side Frame & I3[ J3IAE - @ | X3 |Screw GB/T 845 ST3.5x12 + =Bk FEEHN & HIBLST3.5x12
X1 | Soft Handle #iBE =) © |, |Screw GB/T 845 ST3.5x25

TFEXFFRERIELSTI.5x25

X1 | Top Hinge Component _5%4R 14 x2 | M4x20 Cross Slot Mechanical Screw

@ M4x20 +F B HUAERET
X1 | Bottom Fixed Seat FEEE - ® | X2 M4x10 Cross Slot Mechanical Screw
M4x10 +F Bk G

X1 | Decorated Cover TEIE R iz

M5x6 Grub Screw
M5x6 PI7~F B EIRET (FREETE N EIE FEEE 1 3)

X2

&

X1 | Sealing Strip [T JE47KEE

¥ D RES—— S| X8 | Hollow Wall Anchor, Nylon BBKE
ecorated Strip &M%

f/~——| X1 | Screw Key 2.5mm H7NfAIRF 2.5mm

X1 | Seal Strip B

X1 | Hinge Shaft %%%h

0l ==80 0|27

& X1 | Hinge Sleeve iHE

Tools Required/FRIEET A

s g &

Pencil Measuring Tape Safety Goggles 5mm Allen Ke
ey = 5mm 7 AR
Masonry Drill & 4] >
6mm Drill Bit v
HESEL: & -
6mm i *
mm S Level Phillips Screwdriver Caulk Gun 2.5mm Allen Ke
KFY +FRLT) R 2.5mm 7B

1415127-T01-A -2-



LLATION

1. The installation area shall be 20cm higher than the door glass. 1. Fix the bottom fixture onto the door glass _frame.
L 2. Assemble the top frame and the left and right frames.
2. When a floor drain is present, the floor flatness shall not exceed 1mm per meter. = = o N T
3 Th ; . ; 1. B FEEEEEE RHIE,
. e seal, if any, shall be adjusted to a horizontal state. 2 4H5EJIE AR AIAE
1. WABREXEMNTEEE, BHEMAES20ERTEESRE, LA °
2. WFESHIREAMAEMRTEEER, SRKEREBLImMm,
3. WFERHEKFRENNAR ERBILKFBEEKERS,
ST3.5x25 screw must be installed
- where the arrow points. A longer
screw will interfere with the top hinge
assembly.
ST3.5x250R T AR AT BT AFTHEL
B BRNESTRM LSEAtT5,
" 1. Fix the bottom fixture onto the door glass frame.
=0mm 1. B TEREREE RBE L,
IMPORTANT:
Tray MUST be
level along front
edge.
BE:
REBFKT. STEP STEP
1 2
1. Insert the left and right wall jambs into the left and right frames respectively (pass the 1. Place the frames at the installation positions. Make sure the outer edge of the door glass
adjusting screws through the gourd holes in the frames and slide the jambs downward is aligned to the drain edge, if any (see the figure below). Then mark the drilling
to insert them into the frames). positions on the wall by reference to the holes in the wall jambs.
2. Adjust the adjusting screws to minimize the clearance between the wall jambs and the 2. When a seal is installed, place the frame assembly inside the seal 10mm from its outer
frames. edge (see the figure below). Then mark the drilling positions on the wall by reference to
1. BREAFMOEMIONEGUE (50 ERIETIRITES BN EREHFL, FTEI the holes in the wall jambs.
N0 3. Drill holes into the wall at the marked positions. Install the expansion fastener.
2. FHEIDIE LRI TIRET, BIEMABMEERE RIS 1. BWAEDERANREME, FEHIRERNMAREREN HMAEIMISHIR. WHNTT
(BZTE) ; ARSZEMIITCEEEEFLE,
y 2. FRHSKERHUMARE, AR ERBEETIKFKAMAN EBIML1I0mm (BETHE) ,
RESEEMIITICEEEE LI E,
3. ZEEEFFICUERI, TEEKE,
o
’ ] —
bl 7 =
IE3] |
| The wall jamb
— must be kept
‘ vertical.
Lo - LB AEE.
When a floor drain is present, the front
bottom of the vertical frames shall be
- aligned to the drain edge.
1 BHRIAR, | IR A EERS
2/ BSHRIAR .
<
S i e
3 R R EMIHARE I ETRE. 4
1. Fix the frame at one side onto the wall. 1. Assemble the decorated cover, hinge sleeve and hinge shaft together. Insert the
2. Adjust the adjusting screws on the left and right frames so that the frames and jambs assembly into the bottom hinge. Then move the door glass to insert the decorated cover
are at the proper positions. into the bottom fixture.
3. Fix the frame at the other side onto the wall. 2. Hold the door glass upright. Insert the limiting hinge assembly into the top hinge from the
1. BAEIE—M T 5BEREE, top frame. When the door glass hangs down due to gravity, pre-tighten the limiting hinge
2. FAENAEAARMNIDERNATIRE, BEFIDEMEMNULE, assembly with a screw.
3. BR—MiEH 5EEEE, 3. Install the waterproof seal at the door glass side. Properly adjust the door glass. Tighten
N the limiting hinge assembly and the decorated cover.
1. BTEEEREGE. BE. MREE—E, EANRTRE, AREI RS TEEERE
IREENTEERE,
2. KIEIR, BRAREANG, MEERENTHLRE, MREATE, BIRITMBER
Z {IEREELA 1o
3. REMNBMEKRSE, BEFIIHOME, PIERUREAN R TEEERE RS,
> 3 Top Hinge
1 Co’r)npongent
/ LoRuEAL
&
Hinge Shaft
g<|$—|§i|§me Sleeve
©\ smgg
STEP Decorated Cover STEP
5 TR 6

1415127-T01-A -3-



. Install the handle.

. Install the waterproof seal at bottom of the door glass.

. Install decorated seals onto the top frame and the left and right frames.
. Install end caps on top of the left and right jambs and frames.
REJHBF,

. RERIRRE KRR

. RE MR IR GIDIERIBR R,

. REEAWNLEEMAEME0ES.

-~

N R N

\

Apply sealant onto the bottoms of
the jambs and the bottom fixture.
SRR E R BT B B RE o

N
\

STEP
7

. Apply sealant onto both sides of the left and right jambs and also onto the edges of the
. If a seal is installed, apply sealant onto its bottom edges.

| HHOKEIAR, ERKRREATRERE.

bottom fixture.

S R BB EE A T R B R

A

Apply sealant onto the bottoms of
the jambs and the bottom fixture.
SEM R EDEIRE R ST AR B

STEP
8

1415127-T01-A



